[ Efficiency vs vertpos |

0.5
20.45

tr

I
~

0.35

efficiency vs

o
w

...................................

...................................

...................................

0.2 JH++++ """ S
ﬁH:::fgf*:f:f#@t‘f;::{':::::::::::::::::
O,ZQ;IIffffff?fﬁfffffffffﬁg’_ﬁffﬁf;ﬁffffffﬁfﬁfﬁf

0.95

1072 107

2

Efficiend

~ 0.5
S 0.45¢
0
> 0.4F
>
2035
£0.35
0.3
0.25
0.2
0.15

............

effic

...........

...........

0.1
0.05F

...................

.............

.............

.............

1.0

Ratio

A

e

055

-20 -10

10 20 30
TP vert z (cm)

0

[ Efficiency vs. sim PV z |

~ 05

>
8 0.45¢

£ _F
175} 0.45—
£0.35F

o
[
I

efficiency

0.25

o
()
I

0.15
0.1
0.05

Ratio

i
T

0956215 10

10 15 20
Sim. PV z (cm)

-5 0 5




	Contents
	Page 1


